CHAPTER

1 1 Assessment

&

11.1 Describing Chemical Reactions

36. Identify the reactants and products in each
chemical reaction.

a. Hydrogen gas and sodium hydroxide are
formed when sodium is dropped into water.
b. In photosynthesis, carbon dioxide and water
react to form oxygen gas and glucose.

. How did John Dalton explain a chemical reaction
using his atomic theory?

. What is the function of an arrow (—) in a
chemical equation? A plus sign (+)?
9. Write sentences that completely déscribe each of
~the chemical reactions shown in these skeleton
: equations.
© 2. NHy(g) + 0,(g) =~ NO(g) + H,0(g)
b, H,SO,(aq) + BaCl,(agq) —>
R BaSQ,(s) + HCl(aqg)
¢. N,0,(g) + H,0(l) —> HNO,(ag)
t is the purpose of a catalyst?

ance equations for each item. The formula for
product (object) is given.

basketball team

~ center + forward + guard —— team
C+F+ G——CFG,

tricycle

rame + wheel + seat + pedal —— tricycle
F+W+ S+ P——FW,SP,

he equation for the formation of water from its
nts, Hy(g) + 0,(g) ——> H,0(l), can be
ced” by changing the formula of the
uct to H,0,. Explain why this is incorrect.
alance the following equations.

PbO, — PbO + 0,
b. Fe(OH), — Fe,0, + H,0
_' i (NH,),C0, —> NH, + H,0 + CO,

d NaCI + H,S0, ——>NaZSO + HCl

hat is a characteristic of every combination
tdCtion?

+_S\>

46. What is a distinguishing feature of every decom-
position reaction?

Write a balanced chemical equation for each
decomposition reaction.

a. Ag,0(s) A> :

. . A
b. ammonium nitrate ———

dinitrogen monoxide + water

se the activity series of metals to write a bal-

ced chemical equation for each single-
replacement reaction.
a. Au(s) + KNOs(ag) ——
b. Zn(s) + AgNO,(ag) ——
c. Al(s) + H,SO,(aq) —>

rite abalanced equation for each of the follow-

ng double-replacement reactions.
a. H,C,0,(aq) + KOH(ag) —
b. CdBr,(aq) + Na,S(ag) ——
(Cadmium sulfide is a precipitate.)

50. What substance is common to all combustion
reactions?

\Write a balanced equation for the complete
combustion of each compound.

a. butene (C,H,)

b. acetone (C;H,0)

alance each equation and identify its type.
. Hf + N,—— Hf,N,

b. Mg + H,S0, —— MgSO, + H,

¢. G,Hg + O, —— CO, + H,0

d. Pb(NO,), + Nal —— Pbl, + NaNO,

e. Fe + O, —— Fe, 0,

11.3 Reactions in Aquecus Solution
53. What is a spectator ion?

54. Write a balanced net ionic equation for the

following reactions.

a. HCl(aq) + Ca(OH),(aq) —>

b. AgNOs(aq) + AlCL(ag) ——

(Silver chloride is a precipitate.)

55. Complete each equation and then write a net
ionic equation.
a. Al(s) + H,SO,(aq) ——>
b. HCl(aq) + Ba(OH),(aq) ——
¢. Au(s) + HCl(agq) ——
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®) §tPbo, — 2Pb0 + O, ) (NH) (05 = 2NH; + H, 0 v o,
p)Fe(0H); ™ Fe 05+ 30,0 d) gy + Hy%0 5 NaySa, +2HC]

@ ComBINATION
a)2Mg + 0, —>2MqO ¢) Ca+S » Cal
)ZMg + 0, g ) e el ¥
b)4P +50, - 1PR,05

@ DECOM PosTion
—_—

o) 2A9,8 = "rPg + 0, b) NHaNO; —> N0 +2H,0
* balaved #
SINOLE KEPLACEMENT Alz(,50*)3

Q) Au + KNO\3 — NR ¢)2Al +3H2$(4 -—)3HZ+ (
b) 2n F2AYNO; ) 24 ¥ 20 (NU3),

) DougLE REPLACEMENT

6) 1G04 +2K 0l > 2H,0 + K (04
F deviny fwie ¥
b) by F NS = cds gy + 2naBr

¥ drw:rg force

G) (omBusSTION
¢) (4.“‘8 H’O?_ - 4(02 HHZO b) C3H50 "'10?_ "")3(0L "'3"'20
-
@JsJo) 3WF +2N, = HENe  ([R1d) Po(NOg), 6T 7 PBT +2na o,

sqb) Mg + HyS04 - MySos tH, [e) 3R +20, = Fegoq
[C1¢y 2C, H, +70, = 4C0, +bHyo




